
MODULE 13 (PROFIT AND PRICING

· Accounting Profit :

Total Revenue - Explicit costs

· Economic Profit

Total Revenue-Explicit cost - Implicit cost



Q1

ECONOMIC PROFIT = TOTAL REVENUE
- EXPLICIT COSTS - IMPLICIT COSTS

200 - 600 = -400

Cost is the some of buying a NBA
Franchise



Short Run
· TotalCost : Variable Cost+ fixed cost
· Average Cost :

Total Cost=Quantity
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· Long term

- Rivo's can increase their capacity and

new rivals may enter the market
- Profit= ↑ firms => Profit = 0

- Price = Average Cost
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Profit= ↑ firms = Profit = 0



Q4
P1

Initial D

NEW D

>
Q



& 3

Monopoly M(

Pr

·
Q



· Price Discriminatio
- selling the same good for different prices
- Perfect : Charge consumers their reservation

price
- Group: Chorse different prices for

different groups
- Hurdle : Offering lower prices only

to buyers who are willing to overcome some

obstacles
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↑ inelastic =s more firms can Price discriminate



GAME THEOR
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Straight Turn

P11 Straight Crash, Crash win , I loses
-

Turn loses,wins tie
,
tie

b) Anti-Coordination game

e) Turn Turn

If pl2 choose straight the west is crush - Turn is

If pla choose turn the most is turn-better
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Maximizes the joint payoff




